Ice-O-Matic

SERVICE PARTS MANUAL
REMOTE CONDENSERS
RCA1001, RCA1061
RCA2061, RCA3061
RGA1001-HM, RGA1061-HM

Note: Shown with Field Installed Grills.

14-1969 Date 8/22/17

11100 E. 45th Avenue ¢ Denver, CO 80239 ¢ WWW.iceomatic.com






RCA-RGA Service Parts Table of Contents

This parts list contains the service parts available for the followingremote condensers.

RCA1061, RCA1001, RGA1001, RGA1061

RCA2061, RCA3061

Check the model number on the data plate and refer to the correct listing for the specific component.

Check carefully that the correct part is identified and ordered.

Table of Contents Page 1
RCA1061, RCA1001, RGA1001, RGA1061 Page 2-3
RCA2061, RCA3061 Page 4-5
Ice-O-Matic

11100 East 45th Ave.
Denver Co. 80239
800-423-3367

Page 1



RCA-RGA Service Parts Remote Condenser

RCAL061, RCAL001, RGAL001-HM, RGAL061-HM

e TORQUE 4X:
@\N 23-25 FI%LBS
27.4-30.1 INXLBS

31-3.4 NxM

RCAL061, RCAL00L, RGALOOI-HM, RGAL061-HM

Page 2



RCA-RGA Service Parts

Remote Condenser

Item Model Number
No.| RCA1061 RCA1001 RGA1001 RGA1061 Description
1 | 9131553-01 [ 9131553-01 | 9131553-01 | 9131553-01 Fan Guard
1F | 9031019-04 | 9031019-04 | 9031019-04 | 9031019-04 Fan Guard Fasteners (Guard to Top Panel)
2 | 9161142-02 | 9161142-01 | 9161142-01 | 9161142-02 Fan Motor
See Below** | See Below** | See Below** | See Below** Fan Motor Start Cap** Not Available Separately
3 | 9131555-01 | 9131555-01 | 9131555-01 | 9131555-01 Fan Blade
4 | 9031118-04 | 9031118-04 | 9031118-04 [ 9031118-04 Fan Motor Flanged Lock Nut 8-32
5 | 9051753-01 | 9051753-01 | 9051753-01 | 9051753-01 Conduit
6 | 9091178-01 [ 9091178-01 | 9091178-01 | 9091178-01 Elbow, Conduit Fitting
7 | 3022002-01 | 3022002-01 | 3022002-01 | 3022002-01 Top Panel
8 | 3022004-01 [ 3022004-01 | 3022004-01 | 3022004-01 Side Panel
9 | 2021792-01 | 2021792-01 | 2021792-01 | 2021792-01 Control Panel/Front Panel
10 | 3022015-01 | 3022015-01 | 3022015-01 | 3022015-01 Remote Condenser Access Panel
11 | 3022006-01 | 3022006-01 | 3022006-01 | 3022006-01 Corner Post
12K| 1051222-01 | 1051222-01 | 1051222-01 | 1051222-01 Grill Kit, Includes Item 12 and 12F*
12 | 9131546-01 | 9131546-01 | 9131546-01 | 9131546-01 Grill
12F | 9031182-01 | 9031182-01 [ 9031182-01 | 9031182-01 Grill Fasteners ( 4 each per Grill)
13 | 3013632-01 | 3013632-01 | 3013632-01 | 3013632-01 J Box Cover
14 | 9101397-01 | 9101397-01 [ 9101397-01 | 9101397-01 Weather Proof J Box
15 | 9101008-01 | 9101008-01 | 9101008-01 | 9101008-01 BX Connector
16 | 9141148-02 | 9141148-02 | 9141148-02 | 9141148-02 Condenser, Remote
17 | 2021789-01 | 2021789-01 | 2021789-01 | 2021789-01 Remote Condenser Base Assembly
18 | 3022010-01 | 3022010-01 | 3022010-01 | 3022010-01 Leg, Remote Condenser (Sold each, 4 required)
18S | 9031153-03 | 9031153-03 | 9031153-03 | 9031153-03 Leg Stud ( Leg requires 2 each-8 total) 1/4-20 X 1/2
18N | 9031118-02 | 9031118-02 | 9031118-02 [ 9031118-02 Leg Nut, Flanged Lock Nut, 1/4-20
19 | 9151027-07 | 9151027-07 N/A N/A Head Pressure Control Valve/Mixing Valve
20 | 9091001-11 [ 9091001-11 | 9091001-11 | 9091001-11 3/8 Coupling (Small on Condenser)
21 | 9091001-12 [ 9091001-12 | 9091001-12 | 9091001-12 1/2 Coupling (Large on Condenser)
22 | 9091086-03 [ 9091086-03 | 9091086-03 | 9091086-03 Service Valve Cap
22C| 9091086-02 | 9091086-02 | 9091086-02 | 9091086-02 Service Valve Core

*The RCA and RGA Remote Condensers DO NOT include grills, they can be ordered
as a field installed kit.

** The Fan Motor Start Cap is Not Available, must order Fan Motor which includes Start Cap.

Page 3




RCA-RGA Service Parts Remote Condenser

RCA2061, RCA3061, RCN2061, RCN3061, CRMHC680/1466A, CRMHCS75/2154A

Page 4



RCA-RGA Service Parts

Remote Condenser

Item Model Number
No.| RCA2061 RCA3061 Description
1 | 9131553-01 9131553-01 Fan Guard
1F | 9031019-04 9031019-04 Fan Guard Fasteners (Guard to Top Panel)
2 | 9161142-02 9161142-02 Fan Motor
See Below See Below Fan Motor Start Cap** Not Available Seperatly
3 | 9131555-01 9131555-01 Fan Blade
4 | 9031118-04 9031118-04 Fan Motor Flanged Lock Nut 8-32
5 | 9051753-01 9051753-01 Conduit
6 | 9091178-01 9091178-01 Elbow, Conduit Fitting
7 | 3022002-01 3022002-01 Top Panel
8 | 3013606-01 3013606-02 Condenser Bracket
9 | 2021792-02 2021792-03 Control Panel/Front Panel
10 | 3022015-01 3022015-01 Remote Condenser Access Panel
11 | 3022006-02 3022006-01 Corner Post
12K | 1051222-02 1051222-03 Grill Kit, Includes Item 12 and 12F*
12 | 9131546-02 9131546-01 Grill
12F | 9031182-01 9031182-01 Grill Fasteners ( 4 each per Grill)
13 | 3013632-01 3013632-01 J Box Cover
14 | 9101397-01 9101397-01 Weather Proof J Box
15 | 9101008-01 9101008-01 BX Connector
16 | 9141149-02 9141150-02 Condenser, Remote
17 | 2021789-01 2021789-01 Remote Condenser Base Assembly
18 | 3022010-01 3022010-01 Leg, Remote Condenser (Sold each, 4 required)
18S | 9031153-03 9031153-03 Leg Stud ( Leg requires 2 each-8 total) 1/4-20 X 1/2
18N | 9031118-02 9031118-02 Leg Nut, Flanged Lock Nut, 1/4-20
19 | 9151027-07 9151027-07 Head Pressure Control Valve/Mixing Valve
20 | 9091001-11 9091001-11 3/8 Coupling (Small on Condenser)
21 | 9091001-12 9091001-12 1/2 Coupling (Large on Condenser)
22 | 9091086-03 9091086-03 Service Valve Cap
22C | 9091086-02 9091086-02 Service Valve Core

*The RCA Remote Condensers DO NOT include grills, they can be ordered

as a field installed kit.

** The Fan Motor Start Cap is Not Available, must order Fan Motor which includes Start Cap.

Page 5




	RCA REMOTE CONDENSER COVER PAGE 42417 42517 Final 5117 81517 82217
	page 1 82217
	Page 2 RCA RGA page picture 81517
	page3cabinettext ipa 512.xls 314 22717 8117 81517
	Page 4 RCA RGA page picture 4 large 81517
	Page page5cabinettext ipa 512.xls 314 22717 51017 8117 81517

